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N5T.3  The lid of a grand piano is propped open as ‘
- shown. Which arrow most closely approximates |
the direction of the force that the hinge exerts on
the lid?

Piano

N5T.4 Imagine that a helicopter’s rotor spins clockwise. -
The helicopter engine must continually exert a
torque on the rotor to keep it spinning against the
drag that the air exerts on the rotor. Note that a he-
licopter is usually designed so that its center of
mass is directly under the rotor. In order for the he-
licopter to hover motionless in the air, a small rotor.
at the helicopter’s tail is necessary. As viewed by
someone looking at the tail from the helicopter’s
front, the small rotor must blow air

A. To the left.
~ B. To the right.
C.  Vertically upward.
D. - Vertically downward.
E. In some combination of these directions.

- N5T.5  Aboard of mass m lies on the ground. What is the
magnitude of the force that you would have to exert
to lift one end of the board barely off the ground (as-
suming that the other end still touches the ground)?

2mg

mg o

The answer depends on the length of the

board. :

318

Other (explain).

ZECHINOR IS

N5T.6  Imagine that you continue to lift the board de-
scribed in problem N5T.5. Assume that the force
you exert is always perpendicular to the board, and
that one end of the board always remains on the
ground. What happens to the magnitude of the
force you exert on the end as the angle between
the board and the ground increases? It
A.  Increases '

B. Decreases
C. Remains the same



